After many tests on particle accelerators, not only has the understanding of the diversity of particles that
exist in the atomic nucleus not reached, but a huge confusion impossible to explain. At this point, | would
like to state my prediction about it in my 1992 model. "The Standard Theory flaws: When more sub-atomic
particles are discovered, less sense the Standard Theory has". The answer and solution to this enigma is
simple, according to this model: Atomic nuclei such as solar nuclei (electrons, planets, etc.) are unique
particles that can be destroyed in as many particles as we want to do. As many nuclei as their resulting
particles are those that create around them the gravitational and electromagnetic fields that define the orbits
and charges according to the dimensions of these particles. In the nuclei we should not look for the charges,
because they are not there, but in the electromagnetic fields of the periphery.

Nuclei of Atoms and Stars are unique particles

Atomic and solar nuclei are unique and compact particles that, when
destroyed, give almost intinite particulars of any dimension.
In such a way that if we could destroy them a thousand times, they would
always give us other different particles than the ones produced before
In such a way that the more destructive power the greater
the number of particles P
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Speed of elements are similar

5
Stars level T Va
R s =N —.P Supernovae
-' . ®§ ggf% INOoNS C:L#@m Ex;}'_e-:-i_;\z}'-.
* * &
L tele . t 08| @y P N
 + itele @& g St ' - . i
s ILE - A nter wow -} m@'“ E‘nuatg"]:e"t]ilc?zowel
10724 gm. 104 Vi 1018 1026 1032 2.5 x10%
Atoms stellar bodies 1110015 Planets Stars
Atﬂmﬁ IEZ’EI Mpty positive + orbit R
. ] ] g o .,°+°.°,°°+° Hp
Sub-atonic particles - @4 Positron | Froten  Neutron /
. o Big atoms
i e s Al — E E&
Sub-atem e # Electron @@N Explosion
: B R @ —___ E \L N
Iluon-tau ¥
o EXe -
m@ M ?nuatgh: e"t]ilc? :; ower
10 P gm 10780 or g4 103 10" 4x107%
Heating )
Light particles  particles MNeutrinos Leptons Atoms
—  Addition of sub-atoms to build atoms — — Addition of atorms to build stars —

Allow me to expand the level coefficients a bit.

Space and time (and also mass) are relative (multiples), between different cosmic levels, for example
between atoms and stars. Contrary, speeds are similar. Analyzing space and time, both at our level and at
any level of the Cosmos, we see that space and time are relative because they are obtained by own
parameters of these levels. In atoms, the unit of length could (as was done here) be taken as a minimum
portion of the length between the pole and the equator of an electron. The unit of time could be taken as a
minimum part of the duration of the rotation of that electron. And so in practice, they would be similar to
ours, divided by Lfc (2Pi x 10722) or ratio coefficient between two consecutive levels (for example between
atoms and stars). For example our sun and its equivalent atom the neon (radius): 0.83 x 10"-10 m. x 6.28 x
10722 = 5.2 x 10”12 m. of radius Likewise the mass is relative (multiple) Mcf (2Pi x 10"55), between
consecutive levels, for example between atoms and equivalent stars. For example our sun and its equivalent
atom, the neon: 1.66 x 10"-27 kg. x 20 x 6.28 x 10755 = 2 x 10730 kg.

I n the contrary the speeds between levels are equal: Since both parameters (space and time) are in the atoms
divided by Lfc, the velocity of the elements in these atoms would be equal to ours, since the velocity is equal
to the space divided by time. v = e/t And this is true for all elements, such as electron spinning, motion of
neutrinos, nucleus rotation, etc. and of course for the light.

For many years this model has been checking its worth with all the observations that are being given.For
example, a few years ago it would be said that neutrinos have no mass, and for them my theory and these
coefficients argued that they did have mass and how much they had: (The masses of our moons divided by
Mcf)Well, now I know that they have mass and specifically give the values that these coefficients adjust.



(between 107-29 to 10”-35 grams) These values can be adjusted with the coefficients, using the moons of our
solar system which are the neutrinos at the atomic level, as mi model exposes.
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Friends,

Allow me to give you a number that is important to me in my cosmology settings: The Level Coefficient.
This number represents the coefficient or dimensional ratio (in length) between two cosmic levels, for
example between atoms and stars. The value of this coefficient (Lcf) is 2Pi. x 10722, and multiplying it by
any element of our level, we get the dimensions of the equivalent element at the atomic level. | give some
examples: If we take the rotation radius earth on the sun, and divide it by Lcf, we obtain the radius of
rotation of the third electron of an atom equivalent to our solar system, which would probably be a neon
atom. 1.5 x 10"11 m. / 6.28 x 10”22 = 2.4 x 10"-12 m. if we measure the radius of our solar systems and
multiply it by Lcf, we are measuring the radius of our equivalent atom, the neon. 5,2 x 10012 m. / 6.28 x
10722 = 0.83 x 10"-10 m. If we measure the radius of our moon, and divide it by Lcf, we will be measuring
the radius of a neutrino. 1.7 x 106 m. / 6.28 x 1022 = 2.7 x 10"-17 m. Moreover, If we sit on the garden
floor and draw a circle around us of 1 meter in radius, and divide them by Lcf, with this result we can
consider that we are drawing a circle around us on an electron of any atom. 1/6.28 x 10722 = 1.6 x 10"-23
m.
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Black holes should not exist.

I always felt that black holes were like the "cookie monster”, something that scares a lot but doesn't exist.
And it still seems to me because the explanations given about them are contradictory to their postulated
nature. For example: 1 .- One of the evidence provided is that the exterior of galaxies seems to rotate much
faster than expected, and therefore have to have a black hole in its centre. And this is incongruous, because
if at 50,000 light years the gravity of the black holes influences the rotation of galaxies, then there could be
no stars less than 1 light year due to then they will be captured and absorbed by the black hole. That is, the
centre of the galaxies would only be occupied by the black hole, which would be visible to us. 2 .- The
emission of energy (quasars) proves that black holes exist. No, it is not possible because is postulated they
do not let escape even the simplest and dim light.
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The suipposed tests are contradictions.

' Tests:

They are in the center of galaxies and can have masses greater than 4 million suns.

' Un]ﬂ(ely_, its gravitational attraction would capture and destroy the stars and gases of the
~center of the galaxy immediately.
We know they exist becatise we see the energy they emit (e.i. quasars)

Unlikely, since they cannot emit energy. .

Surely almost all of you will tell me that this exposure is incorrect. However | am convinced that it is correct
and being a basic point of my cosmic model | have to put it here. Stars, like atoms, are surrounded by
magnetic and electromagnetic layers that prevent other stars from penetrating into these layers and can
collide nuclei against nuclei. That is, the collision of stars is not possible, (unless they go in the opposite
direction and at speeds close to light C). This is demonstrated because if it were not so in the compact nuclei
of the galaxies, there would be constant collisions, leading to the collapse and destruction of these galaxies
central nuclei. Therefore the star nuclei no matter how compact they ever become they never will produce
star collisions.
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Stars cannot collide with each other.

This quality prevents crashes and collapse of stars in the compact

nuclei of the galaxies.

Like atoms, stars haye orbited el&hpnﬂagnehL law, rers that protect them

from the invasion of othet stars

They can approach to compose sets, but without exceeding their

impenetrable outer layers.

1/2 1 would like to explain a little better what a black hole should be (as | understand it) by following a little
the rotational cosmic mechanics we know. With the dimensions that are said to have black holes, these
should be extremely powerful, and to get an approximate idea we can multiply that of our sun by the 4
million lots that say they have some black holes. If you look at our solar system, all the planets rotate around
the sun, but nearby planets have to rotate at high speed, such that: "planet that does not rotate - planet that is
absorbed by the solar nucleus.” And in the supposed black holes? of course, the same thing but
extraordinarily more extensive. Therefore near to it, many stars would be absorbed, and the next ones not
abserved would have to rotate ultra-fast. Well, being that they rotate ultra-fast they must to be in the rotation
equator, but those that are above and below this equator could not rotate at this speed and this way they have
two option: To be attracted to the equator to rotate faster, or if they are more close to the poles, they would
be absorbed by the black hole. The explanation follows.... 2/2

2/2 That is, immediately upon the formation of the black hole, a dark center would be formed without stars
either above or below this black hole, and much further from the black hole, a spiral of stars rotating rapidly.
As this is not what galaxies show, but quite the opposite, a center quite populated with stars, even polarly, it
is clear that black holes do not exist in the center of galaxies, they are simple theory, very interesting of
course, but simple theory.
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quickly, will be absorbed
b.},.-* the black hole.

Similar to hurricanes

Above and below the »
rotation equator_, the stars

cannot rotate qtﬂckly

rotation

Due to the powertul gravity of the black holes, the stars must rotate

quickly so as not to be absorbed by it.

Mass and G interrelation between levels.

Atomic
gravitat-icnal Ga= (5/1 x Dd Mass density differential
onstant . L
Gravitational Between levels
constant our level
e

Ga = 6,67428x 10 X 0,1498 x 10" = 1 N-m?/kg?
Adjustment for hydrogen atom
1,66 x107%7 Kg.

(3x107%)

m
g = r—z-Ga: X1 = 180m/s?

Theory:
Not only mass but gravitational constant is related to the density of matter of the

cosmic level in which we are.
In this sense, the gravitational constant at the atomic level is increased by the

greater density of the atomic nuclei with respect to the whole of matter at our level.

q -
About 10™11 Theory of everything 1992
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Gravitational constant in atomic nuclei Friends, As some of you have asked me to make some adjustment
regarding the consideration of my theory that at the level of atomic nuclei gravity has the same magnitude as
at our level, (surface of the earth, the sun, etc.) because | put this setting, (theoretical of course), according to
my cosmic model. In it, it is considered that due to the high density of the atomic nuclei, both matter and the
gravitational constant for these nuclei are increased in relation to the increase in density, that is, about 10"11
times. It is thus put into the drawing these considerations, where the gravitational constant Ga applicable in
the atomic nuclei is adjusted and then the theoretical example of what gravity would be produced at the level
of the hydrogen nucleus is set.

Molecules of stars

Stars and atoms are orbital systems with the same characteristics and elements, so stars should also tend to
form "star molecules™ formed by two or more stars. Their alignment will be the same as in atoms, and they
can even share planets that orbit over more than one star. This means that in our galaxy most of our stars
will be forming sets of two or more of them. But there will also be many cases of solitary stars, mainly due
to the dispersion they have when forming a galaxy. Two interesting points of the possible star molecules can
be:

1.- All stars have planets, and their number depends on the dimensions or mass of the solar core.

2.- Star molecules in many cases can share or have common planets that revolve around two or more stars
in the set.

Si'fHS . Predictions

-

Binary Star -

[ JParticular planets

& Polar alignment N-5

Similar to atoms, stars Can form star molecules

Everyihing theory 1992,
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I put an extract of my atomic model. As you can seeg, it is a planetary model that consists of magnetic
(positive) orbits and gravitational (or valence) layers. The gravitational layers are much more extensive
because gravity decreases with a square of the distance (2N”*2, 2N"2) and they are doubled because each
side of the atomic nucleus rotates in the opposite direction. On the other hand, as we see in the atomic
bonds, these are carried out by alignment of the polarity of the N-S atoms and the rotations of the electrons
also follow this (equatorial) direction.

How atoms work First layer Second layer C) g
Positive magnetic orbits and D
gravity layers @@

Covalent

C:_:D bonds

2,8,818,158 Duplication of

Orbits ﬁ layers due to
g the direction
of rotation of
Atomic nuclei create two force fields around them, magnetic and gravitational. the nucleus.

When rotating, the magnetic fields create positive orbits, and gravity creates layers of atomic valence.
For atomic equilibrium, both fields (orbits and layers) tend to be filled with electrons.
For this, atoms complement each other by exchanging or sharing electrons

Layers contain two or more orbitals because they are much wider than orbits. Everything theory 1992

Cosmic rays of high energy

Light processes

The lines show us the dispersion
of atoms in the atmosphere

And then ifs destruction in particles

My cosmic model has consisted of the integration of common phenomena in a unique theory (theory of
everything) with the observations and tests carried out until today. The result and conclusion has been to
consider that the Cosmos is structured in exponential levels, some composed of the sum of smaller ones,
(similar units of the macrocosm -stars- composed of units of the microcosm -atoms-). The coincidence
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between levels has been such that | have come to the conviction that it is a completely concurrent and
explanatory cosmic theory. Well, one of these coincident points is the phenomena of light. When a system
unit (for example the atom) is destroyed or undergoes imposing structural changes, it emits energy particles,
and the smallest of these particles acquire great acceleration and a final velocity C (speed of light). These
light particles are composed of small accumulations or groups (usually in the form of a disk) of units of
matter of the lower level. But this phenomenon also occurs at higher levels such as the destruction of the star
(giving high energy cosmic rays) and even at a higher level (the supra-stars) whose explosion and
destruction would give us the galaxies That is, photons, high energy cosmic rays and galaxies are the same
phenomenon, but at different levels.

Merry Christmas to all of you. Nothing technical: a simple fun. Question 1: - Who was previous the hen or
the egg? Answer: The egg. Becuase eggs was born about 300 millions years or more. Question 2: Who was
previous the hen or the hen egg? Answer: The hen, Because to be a hen egg it is necessary that the hen exists
before.

ferman

J (A Domesticated hen 10.000
e '--"' VEATS

20.000 years

200.000.000 years

Friends, | put the procedure of molecular bonds according to my cosmic model. | do it because | understand
that it is very complicated, inaccurate and difficult to understand through the quantum explanation of the
QM. Atoms as orbital systems they are, when rotating, they produce the magnetic polarity N-S, as if they
were small magnets. And precisely this polarity is what makes them align and couple to other atoms to form
molecules. The simplest alignment is the linear, but under suitable conditions such as pressure, atoms can
take other suitable alignments taking into account their spherical shape. These forms would be the tetra (four
atoms) and the hexa (six atoms as seen in the drawing) and would also depend on the electrons they need,
the energy in that place, etc. By acting as small magnets and taking the N-S alignment, the molecules would
have two directions of union, by N or by S. And this would give us two types of molecules, the Cis and the
Trans. * Vital molecules are normally spherical (three-dimensional), but not cyclic (two-dimensional). |
believe that this methodology is supported by observations such as that many molecules retain a certain N-S
polarity. In addition, the work on magnets shows us that atoms can be aligned and externally produce this N-
S polarity.
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Atoms are orbital systems Types of covalent bonds
When rotating produce the Polarity N-5

What they use for all types of
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Particles Everything theory

All particles have mass, ]'ncludjng phoft:nq T

The bO]ll'aI‘i,’ particles are always pos;mve

because the accumulation of energ}
matter means positive char 855 .

friad i S
To be negative or neutral, the particles need to unit
and form orbital systems. The electron is negativeit =

it has neutrino, if it is alone then is positron.

Particles in accelerators are normally born

positive, but they look for companions or systems :

to neutralize their positive charges.

N

Antimatter does not exist, only positively or negatively charged particles.

Particles, In the drawing: All particles have mass, including photons. Nothing gives mass to the particles,
they already are matter and mass. The solitary particles are always positive, since the accumulation of matter
and energy are themselves positive charges (great density of energy). To become neutral or negative, the
particles have to bind and form large-volume orbital systems (more volume, less density of energy). So the
electron to be negative must have its neutrino in rotation. If they don't have it, it's a positron. The atomic
nuclei can be destroyed (particle accelerators, fission) producing almost infinite particles of any smaller
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dimension, and positive for being born alone, and will immediately seek to be coupled to others to neutralize
their charge. Apart: Antimatter does not exist, only positively or negatively charged particles. If they exist,
they should be endowed with antigravity, and as we see that does not happen. Great accumulation of matter
in big particles (i.e. atomic nuclei) produce electromagnetic fields of forces around that act at diffrent levels,
as can be, positive electric orbits, nuclear radiactive forces, thermic forces of emission or capture of energy,
nuclear great magnetic forces that destroy the nuclei. etc.
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Then evolutmn is the daughter of symbmsm and granddaughter of chaos.

This issue is related to chaos. Contrary to what it seems, chaos is the basis of the development and evolution
of all cosmic elements. The cosmos seems to be designed with incomplete elements and avid to find others
that complement them. Logically, if the initial elements of the cosmos were perfectly defined and in a total
equilibrium, then no transformation or evolution would be necessary to improve. So, from chaos and
imperfection, all cosmic creation is born. Chaos produces the interrelation between the cosmic elements, and
in their walk, when they find other complementary elements join them to form a better set of elements.
Therefore, the search for a partner; the creation of societies, towns, cities, etc., it was already in particles,
atoms, molecules, etc., it is not an invention of animals and humans. Therefore we could establish an order
in cosmic creation. 1.- Chaos to interrelate elements. 2.- Symbiosis to unite them properly. 3.- Constant and
continuous evolution of nature. Then, evolution would be the daughter of symbiosis, and the granddaughter
of chaos.

Contrary to Einstein's postulates, | believe that the gravitational mass is equal to the inertial mass. Einstein's
problem was that it was believed that a constant force on an object remained indefinitely in its potential and
that this force had to become inertial mass. But | understand that this is not the case, and that the force that
the cosmos manages has a maximum speed of execution C, with which the force applied decreases with the
acquired speed until it becomes null at its speed of execution, in this case speed C.
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Inertial mass of Einstein Development
speed
Initial mass = Gravitational mass of man
25 Km/h

A mass at the speed of light does not increase
its inertial mass due to the applicationof a
constant force, simply this force does not act

because its development speed is equal to C.
Without friction, when the man reaches his maximum

speed, he no longer applies force to the truck.

Development speed of forces

Initial Current
force Speed
_ .
Fa=Fi. ¥Y-Veo
_.ijpphed Development
force speed
At speed of light v \ _
. )
the applied force Development speed
is0dueto V=Vo 0 of magnetic field = light

This point of my cosmic theory refers to the energy structure of atoms. To be stable, the atoms must contain
an energy density corresponding to their dimensions. For this reason, when they give up an electron and lose
an outer orbit, it becomes smaller and is forced to emit the energy left over for the new dimension. The
forces that regulate this energy are the electromagnetic forces and they are the ones that drive the excess
energy (in the form of particles) to the outside of the atom. But they do not emit all them at the same speed,
since the smaller the more acceleration and speed they reach. This is because the driving forces are the same
for all particles, but the smaller ones will be more accelerated due to their mass and according to the simple
formula a = f/ m Where f would be the force field and m the mass.

L In the restructuring of atoms (when ceding electrons)
Reason Gf h,‘_{’ ht the electromagnetic fields expel the excess of energy
with an acceleration inversely proportional to their
mass a =f/m, and _'.-\,rl‘_;e1'e=':fthe smaller particles reach the
speed C ind thevy are the licht.

This also occurs in other atomic e lisise by e high electrical currents, etc

ransfer of electron

atid light emission

Everything Theory 1992

This also occurs at other cosmic levels, such as high-energy cosmic rays, and galaxies.
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Hello friends, | put an approximation to everything theory, explaining it according to the schemes and
methodology of the standard theory. As we see here, | consider that Higgs fields and bosons are only
obtained in particle accelerators in extreme conditions, but they don't exist in nature. On the other hand, its
function is perfectly fulfilled by Gravity, which are the fields that give mass to the particles. In the same
way, the electromagnetic fields are likewise produced by the large particles around them, giving rise to the
electric and electromagnetic charges of all kinds. Thank you https://Inkd.in/dU-XPFc

Approach to the theory of everything ferman
e, pu,T Electromagnetic fields

V¥,V
Leptons
I
Instead, gravity represents the

Photons force fields that permeabilize all
Cosmos and that give mass to particles.

Quarks

u.c,t
d,s, b

Boson and fields of Higgs are
not encountered in nature, but
created in particle accelerators

That is, matter produces gravity fields
that give mass to all particles and
themselves.

Because the cosmic energy has that
maximunm’development speed C.

Why the speed of light

A train, no mattefhow much péwer if has, it will'only

drag asmall load at itsimaxighum development speed.
] % r

A

Every force crjxlsi%Lsﬂf'ﬁzl intensify I and a speed of development V. F=IxV

Cosmic energy manifests as fields and forces with a development speed of C.
The intensity of the fields I depends on the number of lines of force it contains
(fields of gravity, magnetic, etc.) * Density of lines
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I put drawing and simple explanation of the reason for the speed of light C. As you can see, the speed C of
light corresponds to the maximum development speed of cosmic energy. That is, all energy and its
manifestation through forces, has a speed of development and a intensity. In the force fields, the intensity
depends on the density of energy lines that it contains, and the maximum drag speed depends on the type of
field, but in the Cosmos the existing forces have a maximum development value of C. Why this speed?
surely due to the initial proportion of the union of space and universal motion in the universe structuring.
These two qualities of energy can be observed in many physical events, machines and physical
performances, for example: --In the gearboxes (transmission) interchange power-speed - Current
transformers, Intensity-voltage - Lever, power-speed

Friends | send drawing on the dilation that as you see | think is a simple observation distorted by the speed
of the medium that gives us the information, the speed of light C. That is, Lorentz's formula does not tell us
how the event we are observing really is, but how we observe it from a distance. That is, physical events are
independent of observers, whether these observers exist or do not exist.

Relativity: Len ghf Contraction

cylinder at C (light) speed

0 becomes a two-dimensional

cylinder at Vo speed, C speed circle with an infinite density.

D =mass [ volume

In order to have lenght The postulates of Relativity
contraction, each cylinder particle are fun where thev do not

has to carry a different speed®, influence or intervene, but
bE’CﬂHSE’ lt a.l] t.hE Pﬂ.rtiClES hﬂ.VE t:hev CO]IEIPSE -,3_-{1[1 IJE?CGIILE’ a
the same speed they will always . contradiction and mess at the

peed of light C.
other and the cylinder will

have the same length, and fl
will be no contraction.

*Is that logical and acceptable? e i -
& P “Hon atre u:mljs,.F opl-ic:al illusions

ne dilation and length

Friends, here | send a topic (Dimensional geometry) that surele will be rejected by the most people: *
Dimensional geometry measures and works on existent quantities of any dimension. For example, the
distance (or magnitude) defined and measured from 1 to 8 successive elements is 8 (i.e. meters), where both,
the first one 1 and the final one 8 are included. (Which would imply the existence of space quanta or space
points) * Euclidian geometry measures and works on not existent quantities of dimensions. For example,
Euclidian spatial longitude is the distance between two not existent spatial points, because these points have
zero magnitude, and so, not well-defined situation. Properties of the dimensional geometry: divisibility and
reversibility. "The reversibility is a property that allows us to divide indefinitely to any dimension,
conserving each one of the divided parts all the properties of the initial dimension; and having at the same
time the property of being united and summed all these parts to build and form newly the initial dimension™.
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Dimensional Geometry
fe‘:"rman 2013 Vohume: Superimpose
addic Hon of areas Iz a lateral succession and addiction
<3 Area of dimensional longitudes
4 Veoluine
Is a superinposed
stuccession and "\

,‘\ Area = lateral addiction of longitudes

/ / // Longitude: fineal addickion of spatial pomts e

addition of areas.

1 Point 9%
Iz an infinitesimmal of 2 Lon gfﬁ,‘dt’ can be considered as a succession and

spatial dimension that conserves all addiction of dimensicnal points of space,

the properties and qualities of space

Is any extremely small quantity of any dimension that conserves
all the properties and qualities of this dimension

In Dirmensional Geormetry with the adequate addiction of spatial points we can get longitudes, areas and volumes
In Euclidian Geometry this building is not possible when being zero each spatial point

Friends, As | see that we have problems with relativity in time dilation, because | put a drawing to
differentiate between real time events, and time observed in the different frames of reference. The example
is that of a rocket on a trip to Mars at half the speed of light, and that both a round trip is showing us a movie
that we observe from the earth. We see that the movie is broadcast during the outward journey, and again on
the return trip. And that the trip lasts 8 minutes. On the way out we see that the movie is going to slow
motion, while on the way back the movie is going in fast motion. But really the film is projected in real time,
what happens is that we see it with relativity, although within the rocket the film has its normal emission
time, which is the same that it will have if we project it on earth. Therefore, Lorentz's formula is applicable
to us, but for observation from the earth, not for the reality of the rocket. That is, dilation does not affect
time, it is our observation that dilates.

Spegd rocket * .
1/2 light

tip 8 minates

-+

Relative

observation ' _ during its trip to Mars.”  °
And the same during his return

from Mars. |

+ Going to Mars, *slow nwvie:;_lz minutes / Return, fast inovie: 4 minutes.
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Friends, | send you drawing with relativity considerations

For an observer on the surfece

Time goes slowly with speed ?

wrong.
Clocks Eu}d i more slowly. Due to the speed

Relativity &

of earth, time on a rocket passes

of light that inform us about
the rocket's clock.

But....

For an observer located in the
rocket, time passes more slowly
over the earth. Due to the speed
of light that inform us about
the earth's clock.

Then, time is observed to pass
slowly in both cases, but
logically time goes to the same
speed in both cases.

So time is stationary

Time dilation and length contraction. Td--If near to light speed inside a rocket have 0.1 of dilated time, then
inside the rocket the observer would measure a speed of 300,000 km /0.1 = 3,000,000 k / s. What is
impossible. Due to the by mean of the exterior observation of suns, planets, galaxies, etc., he see to be
travelling through a static space to 300.000 km./s Lc.--In this example, if length contraction exists, then it
cannot be the exterior space to the rocket because this space does not move, but the interior space that move
at C. In these circumstances, the rocket, its atoms, its electrons, etc. they would contract until they
disappeared to the speed of light. What is impossible.

Rel i'Iff'E.-‘I'fy * Rockets near to the speed of ligh time dilation to 0'1

Time dilation
If near to light speed inside a rocket have 0.1 of
dilated time; then inside the rocket the
observer would measure a speed of.
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Friends, | put one of my conclusions on the relativistic questions of simulteneity, local times and spaces, in
which | express my conviction that space and time are really stationary and not relativistic. For example, at
any time within Spain, millions of events will be taking place simultaneously with respect to the global time
of Spain. And it doesn't matter if you can observe or not such simulteneity

Space and time. are stationary

igiesis
0 S
Eermaﬂﬁugnws Mﬁdei*“lg?'?; o T u_&*i v

10:10

ey
)4 Spanish time
Firs anelty pi‘l‘nmple ot f \ g .
For fwo or more- dlstanbéielcilecal f:rames of reference, there will
alwa}rs be a supeﬂor f:rame of reference that contains and embraces
the previous ones aﬂd fer which both space and time turn out to be
stationary and smlultaneeus.
O?’blfﬂf SyStE’mS (atoms, stars) The armg're“u fields matitain the
’ balance of energy in the orbital
Criital SYstems  Matter/volume
domain of
Magnetic fields AP s V{_
LieTnne fal jomic radius Ar g
Electron R
Radilf;n - (l)N—n
Photons 2
_— :'}' M — Number of last electron

i n - MNumber of the ssarched

Ovrbital + \ electron

electric charges
Az in the stars, the innermost elscions
of the large atoms are caphired and
absorbed by the nnclsi, leaving enly the
outer layers.

High
magnetic
power

ferman P

271

Hmp destroys systems when ! surplus the maximum energy allowed

For those who might still be interested, | expose a drawing of my atomic model (classic model) where,
among others, you can see formulas of atomic radii, and orbital radii of electrons.
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I expose you drawing-explanation about the magnetic force as an important element in the cosmic structure.
For more information visit my atomic model: https://Inkd.in/DkFYka

..EEE:‘-Cfi"Gﬁ'I- agnetics forces: Forces ofrredistribution of energy in the space.
Antagonist to gravity
' If the magnetic force
of redistribution of 4
' nergy did not exist,

ferman

the orbital systems
ald collapse on the

. nucleus.

Pair of Gravity-magnetic antogonist forces produce any system
of cosmic rotation.

When gravity coheres and acc1ﬁ11ulates matter, and due to the presseure
of energy, magnetic forces treat of redistribute it properly

Firstly, sorry to the QM lovers. 1.- The first consideration tells us that the situation of orbitals cannot be
demonstrated or followed, but it must be accepted as a postulate that they are there. 2.- However, to make a
statistic or calculation of probabilities it is necessary to observe and count the events of the study, as well as
to see and review when the probability is met and when it is not. Every calculation of probability has easy
formulas of elements that fulfil the calculation (A/non-A), that is, we observe the elements and then we
analyse their valuation. You cannot give a real, serious and credible probability of something that is possibly
a simple desire of its existence. That is, every calculation of probabilities has to be demonstrable and proven,
if not, it is a simple state of disaffection. Is there a valid calculation of probabilities in the world that cannot
be proven correct? Malicious assumption: We will not be repeating the story of the Emperor's new clothes
with quantum mechanics?

Qu antum Mechanics Discussion about principles
Schrodinger equation
Wave tunction oy 72772
ih—=\—-——7—+V ¢
dt Zm

1.- Schrodinger’'s equation is not demonstrable, it must be accepted as a
postulate.

2.- The situation of orbitals must be considered as a probability or statistic of
finding the orbitals in certain places defined by the equation.

Friends, for those who might be interested in it, | give you a very short summary of my atomic model. The
summary is in my below web, here | only put drawing with some data. https://Inkd.in/d_4RJ3S



https://lnkd.in/DkFYka
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://lnkd.in/d_4RJ3S
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/

Atomic model: Building atoms ferman

Gravity quantum
' - &0
Gq C Mass=10 g
Charge = 1/10 -

% =
&

Hydrogen
Trans-Uranium

Minimum
orbital system Maximum orbital system

Firts property: The nuclear masses and charges join, add up and
form a single bigger mass and a single bigger charge.
Second property: The masses and charges act through the fields

they create around them.
Gravitational fields; and electromagnetic fields that create

successive positive orbits according to their potential.
Each orbit actzs as a positive c‘harge that attract and situate anorbital on it

The Wrong wi

g

Particle accelerators destroy stable particles and produce unstable particles, which are

not the true particles that make up the Universe.
Any unstable particle is nothing but a portion of a stable particle.

For example, the Higss boson is not a particle with real and stable existence, but a
'circumstantial piece of matter. Wanted and built to justify Standard Theory

That is, we use simple pieces of unstable matter as if they were the fundamental

* Destroying matter we can find any material piece.

particles of the Cosmos.
Because matter can be split indefinitely.
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Possible wrong search on accelerators. A stable universe would need to be supported by stable particles. On
the contrary, what particle accelerators do is destroy stable particles to give us unstable particles, which are
said to be the fundamental particles of the Cosmos. This seems to be a wrong proceed.

I want to apologize to quantum physicists for putting these conclusions, but I think I should expose them
because | am convinced that | am right. I'm sorry.

Disciple  Dear Master, really the laws of
classical physics do not work at the atomic
level, but the laws of quantum mechanics

aster

he same elements than here, as can be space,
time, matter, mass, charges and electric fields,
magnetic fields, etc.

Why would these not have to work?

Disciple 5o according to you, is the quantum
distribution of orbitals in atoms wrong?

Yes, it seems that way. This distribution is
so ridiculous, grotesque and unfortunate
that the cosmos could hardly act and work
in such a clumsy way.

In QM, the ideas and formulas of Schrdinger are
who order the orbitals, but not the atomic nuclei.

Not recommended for quantum physicists!

Dear friends, | put a drawing on the distribution of orbitals, which I believe is incorrect in quantum
mechanics. Why? because for such distribution the nuclei should have the capacity to create Cartesian
coordinates around them, and an ability to distribute them properly over those coordinates. And that seems
to have quantum physicists, but not atomic nuclei.

The quantum distribution of orbitals seems to be not correct

2py
Because in the three-dimensional On the contrary, the nuclei can use
space (or even two-dimensional) fixed orbital coordinates since they rotate

Cartesian coordinates (X, y, z) do not exist. creating a north-south direction N_5,

They always depend on an observer and an equator to create stable orbits

that can be in 129,600 different grade
positions.

on it.

Then, nuclei cannot use the Cartesian coordinates
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Friends | put you drawing on the deformation of space-time that seems to be incorrect. Fernando

Space time deformation is not good ferman

-.'._. ;:’:{' J
Because gravity is born and goes to the centers of matter and then
matter also must to be deformed, question that never happens

Orbital cuts in the Stars formation

~~_ due to the mﬂgﬂt"ﬁﬂ ﬁff-d'g
Ty ﬂf the sysiemn

Cortes orbitales (para los planetas) en la formacion
de una estrella
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Friends, | give you my ideas about the large amount of water that exists on earth. https://Inkd.in/dZVkvf3

Atmospheric Cycle

< Biology
: Cycle
Energy oh2  CHn-CHn Cycle
e /0
«— NH3
- Hydrocarbons
o Vegetzles and biological
- ’( products
Arimales’e— 09—
Residuos i
N 003 ,Energla(_
OH2 co2

OH2

Water on Earth is a natural consequence by cycles of chemical atmospheric reactions
when an adequete temperature exists, starting from natural gases NH3, CO2, etc.

How many inhabitants do you think the earth can withstand for good health and ecology?

The health of Earth How many people can be borne by
: earth for staying healthy and balanced

Surely 4 billions, no more.

The health of the earth
decreases proportionally to
its number of inhabitants,
when there are many.

Ot'erpopnh?f:fun is lethal
ferman
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Orbital coordinates and their eccentric orbits Here are exposed formulas and representation of eccentric
orbits. In reference to the orbital eccentricity, the formula is relative to the radius of ellipses that seems to be
more logical and easy of understanding (r2/r1) — 1 because the eccentricity is measured in radii, not in
decimal that could be difficult of assimilating. https://Inkd.in/d5pBbbg

Orbital or radial coordinates Eccentic orbits — wm=

O
0° Simplified formulas
N Polar vision o -
T Tl -
Pt T
, !
2708 l f {E} R, | 900
I{l / 2 A ] )."
. / hN P P
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— | o
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I expose you a divice of camera obscura that allows several experiments as single, double slits and others.
Thank you.

Observation device .
| ferman Camera Obscura s

For several types of experiments
Screen

\\

Special cards for each type of experiment

>

Window for modes of experiment

< >

Table for emitters

Open window Single, double  Camera obscura
slit experiment
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I expose you the window experiment to see and revise a little easily the problem of the single and double
slit experiments. Thank you. https://Inkd.in/dB9X25h

The window experiment ferman

1 Open window 2 Smgle slit 3 Camera obscura

e ]

e

Kiwi color influence Orange color influence
Strawberry influence

Total mixture Partial of lineal miexture No mixture

Orbital coordinates with web summary https://Inkd.in/d5pBbbg

Formulas for dimensions of atoms, general and simplified:

Formula of interrelation and dependency of all the atomic measures

General formula for dimensions of atoms ;

grfcm
Atomic mass unit

3
Aw x (MUAM) = 4/3 TR x 7T VAw
Mass of atoms Volume  x  Density

Stmplified formula AW = atomic weight

6
Atoms diameter = | Aw  In Angstroms

ferman pasz
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Orbital or Radial Coordinates In motion ferrnan 2003

H
EXPI‘ESSiGﬂS ! Particle or body in motion
1 —
- l >
of location : 30m. @ P =R HO - Vertical angle
here | s O Horizontal angle
In Stop &
45
P - 3099 o In rmotion Ho + Wyt
_____ —_ 2
. P =R +vi

Situation of particle D o+ (.L) 0 t

radins  angles

P =30 (s0,45) m.

Where { is the same for each parameter

+ w “Wariation in H angle per unit of time
H EEF
4+ WV .1 |Yariation in radius per unit of time

+ U_)O Wariation in O angle per unit of time

Spatial point of Orbital coordinates Where time is running continuously
angular reference The travelad paths show and draw us the described orbits, geometric fizures, etc,
For monitoring and coordination of multiple orbital systems
Also for the construction of multiple types of geometric figures.
Angular procedure:

As you can see in the drawing, in this system of orbital or radial coordinates we
proceed to define firstly the horizontal angle Alpha (from 0) for later and on it, we
proceed to measure and detine the vertical angle H.

Real physics and virtual physics "Real physics is the one that the Cosmos builds structures and manages. For
that the Cosmos uses its basic elements (space, time, energy, etc.) join and directed by its multiple basics
physics laws. That is, all is natural and existent, and not dependent of us the humans." "Virtual physics is
eminently human, created and designed by humans without being subject to any of the physical laws of the
Cosmos. That is, when we act with elements and laws that do not exist in the Cosmos". So, virtual physics
exists in our minds, but not in the real world. If more, see web.... https://Inkd.in/dvi4BTn

fermat
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Quantum explanation for Gravity. Simple quantum explanation: "Gravity consists of quantum fields of lines
of concentric energy that is produced by any matter or material particle around it in a spherical way, which
gives mass to itself and to any other particles that are within this field." Speaking in quantum language, any
quantum of matter produces a minimum quantum field of gravity, and vice versa, any quantum field of
gravity enclosed a central quantum of matter. Due to these fields are constructed by particles or material
bodies, these fields spread in spherical shape around the particles in a inversely proportional way to the
square of the distance to this nuclear matter. The gravitational fields and their given masses are stable
because the particles and the matter that produce them are also stable. https://Inkd.in/dzNCafw

Summary: Gravity consists of an quantum field that is produced by
any matter or material particles arround it in an spherical

way, which gives mass to itself and to any other material
particles that is within this field.

The gravity fields and their given masses are stable
because the particles and the matter that produce them
_are also stable.

Then gravity are concentric fields of force, those which give
mass to any material particle and produce attraction

among them
Contrary, the Higgs fields have not been proven, nor can they be stable if the
Higgs bosons are totally unstablz, nor are they commonly found in the Cosmos.

Hard criticism to the quantum mechanics: We all see as in the cosmos all systems with a central nucleus that
exerts its power on the surrounding satellites makes its influence in spherical, rotational, spiral, etc. But also
the cosmos is in continuous motion in each and every one of its points, and therefore the application of
coordinates of motion is needed, that is, using a system of radial coordinates, all this to maintain a balance
motion, forces, momentums, charges, etc. Radial coordinates Ps = R (0 + w.t) (Ps - position of the orbital, R-
radius of the orbital, o- initial angle, w- angular velocity, t- the time, which is common for all orbitals) What
cosmic physics never does is apply a system of Cartesian coordinates to distribute the orbitals, because with
it you can never get this necessary balance of forces and moments. The Cartesian coordinates are elements
of our mind and ways of thinking and adjust mathematically, but we should not pretend that cosmology
follows our rules, but to learn theirs. On the other hand, there is no classical physics or quantum physics;
there is cosmic physics, where equal elements follow equal rules; where nuclei with satellites complete
equal rules to any level.

Radial coordinates Orbitals Situation of fernan
Farticles ! . I . mn
situation F:=Fk ot w't * RDL+ 't ot Wt
a0 B

nelkring

R =Radins 0 = Initial angles W= Angular speed 1 = Common ime

Sign for inverse value of any parameter or operations. =i= https://Inkd.in/dnjP22b
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R

The inverse: The inverse value =i= of anv parameter or operation + 5=1=-5

Sign
The inverse of any concept such as: number, operation, direction, etc. it is the opposite value or sense to that concept 'sn
y A0
- x =Il=-=x T =
Up =I= down . X . : 30
y=l=-y heat =20
down v :
i . =10
. ) heat =1= Cold | : 0
ferman inverse park -
. . L S =
Addition =]= Subtraction X+> =l= X-2 Cold :-m
Multiplication —i= Division X5 == X:5 \L =20
Power —j— Root X2 =ij= {x =30
Ther we can bave: inverse of an operation; of a direcction; of irme [past and future] ; forward -~ backward ;- of temperature, ete. -4ﬂ
B uc

General concept of interferences: In the double slit experiment, a regular interference among waves only can
ocurr with the same wave and peak, but not among different waves y particles. Therefore, the current
attempt of demonstration of the duality particle/wave in the double slit experiment is erroneous.
https://Inkd.in/djDD2Sa

Inference

."'--rr_r]u-'-r:;;' YETE TR "]F'- Ir'r-.:_r' rr:"-r'rr:;-
Wawve-particles alone can interfere with themselo Pattern

ferran: Double slit experiment.

Double slit

Single Slit
Phctnnfelectrnns EtC
Light ; B\\
i
i m@ I

& &* @
Any wave makes interference /

with {tself aleways, but not with

el )

other ones due to other are in

different place and different fime.
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Las corridas de toros deben
ser totalmente prohibidas

fiesta no sea sangrienta, sinorespetuosa y divertida para todos?
Es necesario que yo tenga que morir tridgicamente ?

Yo admitiria gust te cierto diverti t igo, sin no es muy doloroso i S

termasn

Friends, | expose you the Key numbers for the Cosmos Structuring.
33—
Key numbers for the Cosmos Structuring TT e f 2 craman
3 12
(MUAR) Mathematical Unit of Atomic Radius R (Hydrogen) R™ = —— R = 05035 .. &
P

(MUAM) Mathematical Unit of Atomic Mass (MUAM) = 4/3 'i{g (MUAM) = 1.6798... x10 2 gr.

(AD) = JT | Aw
{ Aw = Atomic weight )

(AD)  Atomic Density J[ | Av

AT
{ Aw= Atomic weight )

6
Atomicradii  (MUAR) x FAw  inAngstroms A

Note:
The applied units of measurement as Angstroms and
grams, come from the general formula

General formula for dimensions of atoms

Aw x (MUAM) = 4/3 7T R3 x 7T Aw
Atomic weight x MUAM Volume  x  Density

i Atomic (N) and orbital (n) radii
Atoms and stars ratio

o> T @

- r
From the small ones (Qﬂ'T to the bigger ones N (1,0_73-)[\-“

The floating point index Hello friends, | put you webpage with drawing on the Floating Point Index, a
simplified method to make many simple operations applying a floating index concept. Thank you for your
kind. Fernando, https://Inkd.in/daiiHJb
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ferman

-d‘r -
Floating Point Index ~8 = 0,08  pomecematpreexporens

~L real quantity Some simple operations

-'__|: = 400000 Multiplication --Sum of indexes

6 = 0,000 76 x4 =24 = 2400
2 - Multiplication of bases
7 = 700
-1 9 09 Division -- Subtraction of indexes -3-5--8
7T Y -3 .54 -8 : :
2 Car 9. 3="3=0,00000003
- . C e O3 T Ay e
O {-} = 0 ’} UU Division of bases
6.9 = 690  Toadd and subtract it is necessary to equalize the
20,69 = — 09 indexes previously 20 +3 = 24 1260 = %64
. - &dd or subtract bases
~0,0069= 069

2 2
‘4 — % = ‘4 —%60 =—56
T The index method allows any quantity of integers and/or decimals
being able to be both positive or negative
Index means the number of decimal positions
to run (right + left -) to get real quantity

Friends, this is a drawing summary of the forces and elementos that compose and building the Cosmos.
Thank you.

Elements and matn Cosmic forces of the Cosmos ferman 1992
— Concentric worl of F TRy
the cosmic energy due fo ..
Space — Cosmic Enerey — i}é = Gravit i Pl
) 2F - ol AT = braoeialy — = jfii}{fh'ﬂ{‘ Forces

Universal motion % S

Foints of cosmic i, gl e

energy or Gravity AT

Main Cosmic elements and forces, as for my cosmic and atomic model.

Friends, For those who could be interested in the Squaring Pi, | put its Diagram. Thank you
https://Inkd.in/dwA46Pp
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I'h agram ﬁ}}r‘ 7T Pythagoerean Coniposition

J/ Jerman 2009
I x 10 H|
L SN iy
A " Sum of legs powers to get Zh
]
108 =
Fythagoras Composition Surn of .paramet.ers that contain
Large ayrole and define the circurnference
Simple Tegst Tl | xp
Short cyrele {,1\
R Taoget | hypotenuse
i I 47;1\\
[ 2x2 A7 Zh 1. 10®
21 o
¥ T = 2,14159144414199 ...
11 h

b Operations
@ le /ﬁ\ I = hypotenuse ‘f

How planets get water: Water, hydrocarbons and life on the earth. (Cosmos model) So quantity of water in
earth shouldn’t come from of water asteroid because of then all other planets would have the same quantity
of water. Water should be manufactured inside our planet in successive and long periods of atmospheric
cycles of transformation. Generally water is produced mainly in atmospheric cycles in planets with the
adequate temperature and common gases, such as NH3, CO2, together the energy of the suns. This is
explained in the next page. https://Inkd.in/dZVkvf3
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Yater and Hydrocarbons® birth 2 7905
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Fourth dimension: the multi-worlds. (cosmos model) Possibly many of you will be offended and upset by
these thoughts, but I think it is my obligation to expose them: The fourth dimension of space conforms the
universe in multi-world levels, two of which are our stellar level and the atomic level. But there are many
more levels, all being equal with rocks, rives, life, animals, plants, etc. That is, at the atomic level electrons
are equal to our planets in our star level, with plants, animals, etc.

NH3

Orbital coupling way of uniting particles and astros in the Cosmos
Also Speedy grouping of orbital particles and astros

FPositive electromagnetic orbits due to rotation of the magnetic fields

Atorn lithium and Btar of three planets Ellicng?n

ferman 1975

T

nedtring
Orbits mocn )
<_ ; 1| S COrbital Sub-system

+

_~ il + Magnetic orbits: positive
Crbital systems by mean of orbital coupling of particles and Astros
Pi. 1
Az key number for the Speedy grouping of [E
Cosmes otructuring orbiting particies

and astros as can be:

Like in atornos, in stars positive maghnetic

orbits attract and fix planets on thermn. Galaxies, cosmic rays h.p., photons,
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Miuilti-worlds ( The multiverse)  Mathematical and space dimensions

ferman Plane and exponential
k22 super-planets surface level
k3
k2
Exponential Eﬂ Earth surface: Our level
3 ¥ y I | . . k u
dimension imt. 2mt 3mt. ... Plane dimension E We are here
k-2
k3
K10 Atoms level
k-22 : : electrons surface level
fk-2Zmt. Zk-22me 3k-22m
&

Light and photons. Light aren’t waves, but only well located particles https://Inkd.in/gKh92zx

Sub-atomic particles

emply positive + orbit P . /‘mm
: : s = @ Hp F
Light particles - @« Postron | Proton Newwon P
y : < . e Big atoms
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Photons are packs of luminous particles (sub-atoms) from 1 0700 45 1070 gms. about


https://lnkd.in/gKh92zx
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/
https://www.linkedin.com/in/fernando-mancebo-b8942a2a/detail/recent-activity/

The man and the testosterone The below page tell us summary on the development of men on the earth.
https://Inkd.in/eJThvnz

Testosterone

L

i |
Testosterone helped man to becone a fearsome warrior
who ended up dominating and transforming the world

Tale on Uncertainty The Farmer and the Quantum Physicist Friends, | put link with a short tale on
uncertainty https://Inkd.in/dgDHFua

Whevre are the virtual
and the uncertainty ?

In phystcal nature
or 11 our mind

Cosmospathy: Interrelation human intelligence - Cosmic intelligence Cosmospathy can be considered as a
nascent quality of intelligent and sensitive interrelation between the whole Cosmos and the mental capacity
of humans. https://Inkd.in/ggUC4 D
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i We share out the [ ™
Cosmospath s L cosmic intelligence

o

C{'-"}’fﬂfﬂflf Princi ph‘-*_ “"Uncertainty exists only in our minds, but not in the real physical world"”
Physical elements have one and only one state and situation in each moment

For the child there is only one reality
and situation in each moment

If particles would exist in two
places at once, then they
would be tiwro particles, with
o masses, inertias,

Imontentun, efc

We can have uncertainty about the circumstances of the child, but child only has a unique and certain state.
Uncertainty 1s our mental problem. but not the problems of the physical elements

Brief summary of the possible cause of the cancers, consistent with a failure of the Cellular Maintenance
System in animals. https://Inkd.in/eA2ME4qg
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C aAncer and Genetic System of biological maintenance
early aging

From my work: Genetic Heredity 1995 I = Inductor of cellular duplication

Activar enlace para ver una imagen mas grande.

Geneti cS [H ardware Cellular Organelles}as bricks and cellular elements of construction

and Contained and transmitted in the female ovums

[SOfi”(UdT(‘-? Chromosomes and 361:33]

As projects and plans for the
construction of the animal body
Contributed by the two parents

Nature and Reason of
Sexuality:

Cellular Refoundation fo
get new and not aged cells

in the nascent animals Cg— E L AT 1
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The speed of light is relative and different to any other object in motion. For example, if we launch a rocket
near to speed of light together with a light ray, the relative speed of this ray is different regarding us, than
regarding the rocket. And it does not matter where different observers are located. The traveled space and
time are stationary and is not changed or handled by observers.

ferman: From my cosmos model

. 2 : Where all the Astros, particles and elements move
Taking the whole universe as reference frame iy gl directions continuously, inclusive of light
Here N . o i

Space and time are stationary and not dependent of any other element.

Then the speed of light is relative and different regarding each element in motion inside this reference frame

Rule of the reference frames: For tivo or more distant reference frames, alway a bigger reference frame exist, which
contains and forms a unique larger reference frame with stationary space and time for all them

For example, our sun forms a large reference frame that units all the particular reference frames of planets, getting other bigger one.

The waves duality of particles is not logic, (or possible) in physics. Is not given in our cosmic level
(macrocosms), where a planet, a rock, a moon, has not this duality. The same occur in the microcosm,
because the wave duality means continuous waste or consumption of energy. Waves to any level and
magnitude, means continuous inertial changes and continuous consumption of energy. Waves of water, air,
sound, motion of electrons in waves form, any type of oscillation, etc., produce waste energy. Say,
stationary and stable waves or oscillation don’t exist without waste of energy. So, quantum duality, string
theory, etc., etc., all those are simply mental recreations.

Particles

Particles keep and retain their initial motion by inertia, and so, don't consume or

waste ener - ;
gy Contrary: Inertial changes means waste of energy

Waves means continuous inertial change, and so, continuous
waste of energy.

Stable waves don't exist because need of constant waste of energy
Oscillation and waves of water, air, sound, and all other need of waste of energy

Then particles can not be or contain waves
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Fourth dimension of space: The Cosmos or Universe has the exponential property of mathematics (1,
10,100,1000 etc.) and so, it is structured in successive levels in such a way that minor units, as can be atoms,
unite among them to form other bigger units as can be stars, and so forth, with the same properties,
elements, physical laws and way of structuring. https://Inkd.in/DkFYka
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The big systems capture to the smaller ones,
Big magnetic system capture to the smaller ones By orbifal coupling structuring
Particles and Astros interact with other by mean of orbital coupling
ordered and driven by their mutual magnetic fields.
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